versione 0

Equazioni differenziali — 0

inio}- DSolve[{2y''[x]+y'[x] =8+6e’*, y[0] =1, y'[0] == 10},
vIx], x|

1
Out[19]= {{y[x} S5 — e ¥? (—8+10 e¥? 4+ 3e°%2% 4 40 ¥/? x)}}
5

Funzioni di due variabili, punti critici — 0

nEol= gl%_, y_] 3= x* «Log[x+y?];
f[x_, y_] :=gl[x, y]; Expand[f[x, y]];
Print[f[x, y]];
grad = Expand[{D[f[x, y], x], D[f[x, ¥], ¥1}1;
Print[grad];
Print [Solve[grad == {0, 0}, {x, y}11;
Ox,xE[%, Y] Ox,yEf[x, ¥]
ay,xf[xl vl 6y,yf[xl vl
Print [Simplify[MatrixForm[H[x, y]]]]

r

H[x_ ,y_]-= {

szog[x+y2}
x? ) 2x%y
{X+y2+2xLog[x+y],x+y2}

Solve::dinv :
2
)1+y

The expression (x +y2 * involves unknowns in more than one argument, so inverse functions

cannot be used. >

Solve::dinv :

2

. 1+2 . . . .
The expression (x +y2) x involves unknowns in more than one argument, so inverse functions

cannot be used. >

%2 2x%y
SolveH +2xLog[x+y2}, }:: {0, 0}, {x, vy}
X +y? X +y?
x (3x+4y?) 5 2xy (x+2y?)
7(}“},2)2 + 2Log[x+y ] 7()“},2)2
2xy (x+2 y2) 2 x? (x—yz)
(x+v?)? (x+v?)?

1

In[44]:= MatrixForm[H[eT, 0”
Out[44]//MatrixForm=
2 0

0 2
Ve

MatrixForm[H[O, y]]

2e¥ 0
0 o0
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In[46]:=

Out[46]=

In[49]:=

Out[50]=

In[52]:=

Oout[52]=

In[53]:=

Out[53]=

In[54]:=

Out[54]=

Plot3D[f[x, y], {x, -.5, 1}, {y, -2, 2}, PlotPoints -» 50]

Integrale doppio - 0

6 x2
£lx_, y_] 1= ————
y“-16y+ 65

2
Assuming[y >0, Simplify[{f f[x, y] dx,
v

J:J;/Tf[x, y] dx dly}”

2 (-8+y)
, Log[65] }

{_

65 - 16y + y?
x3

Simplify[{j f[x, y] dy,
0

2 ~x3
f dy d
J;L [x, y] dy x}]
{6 x* (ArcTan|[8] - ArcTan|8 - x?| ), Log[65]}

Numeri complessi — 0

Solve[zz -2z2+4==0, z]

{fzo1-143}, [zo1eif3 )}

Autovalori, autovettori — 0

a=

N|= N|=
N|= N|=

] ; Eigenvalues[a]

{1, 0}
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In[55]:= Eigenvectors[a]
oussl= {{1, 1}, {-1, 1}}
1
V2

Out[56]//MatrixForm=

In56l:= P = {{1, 1}, {-1, 1}}; MatrixForm[p]

L
vz V2
.y
V2 V2

In[58]:= MatrixForm[p.a.Transpose[p]]

Out[58]//MatrixForm=

o o)



